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0RQWHFDWLQL�7HUPH��XQD�VWRULD�QHOOD�VWRULD

*LDQOXFD�*LXVWL

4XDUWD�GL�FRSHUWLQD

8Q�XRPR�FKH�VL�PXRYH�QHOOH�VWUDGH�GL�XQD�FLWWD̦�SHU�
XQD� VHWWLPDQD�� /D� VXD� FLWWD̦�� 8QD� GHVFUL]LRQH�
PDJLVWUDOH�� GRYH� LO� FDPPLQR� DOWHUQD� ULIOHVVLRQL�
SURIRQGH�D�IDWWL�GL�YLWD�YLVVXWD��XQR�VWRS�DQG�JR�FKH�WL�
VHJXH� ULJR� GRSR� ULJR�� SDJLQD� GRSR� SDJLQD�� 8Q�
VDOLVFHQGL�QHOOH� LQFUHVSDWXUH�GL�XQ¶DQLPD� WRUPHQWDWD�
FKH�VSURIRQGD�LQ�XQD�VROX]LRQH�FKH�QRQ�DUULYD�
0D� TXDOH� VDUD̦� OD� UDJLRQH� GHOOD� VXD� DQJRVFLD� H�
SHUFKḨ� LO� WRUPHQWR� DIIOLJJH� LO� SURWDJRQLVWD"� &KL� OR�
VHJXH� FRPH� XQ¶RPEUD� H� SHUFKḨ� H̦� OÕ̦� FRQ� OXL"� 3HU�
VFRSULUOR� VHUYH� DUULYDUH� DOOD� ILQH�� SDVVDQGR� GDO� VXR�
ULWPR� VHUUDWR�� LURQLFR� H� DYYLQFHQWH� DO� WHUPLQH� GHO�
TXDOH�DUULYHUD̦�SXQWXDOH�OD�VRUSUHVD�ILQDOH��

1RWH�VXOO¶DXWRUH

*LDQOXFD�*LXVWL

0RQWHFDWLQHVH�GRF��QDVFH�QHO������LQ�XQD�
FOLQLFD� LQ� SLHQR� FHQWUR� FLWWDGLQR��
,QIRUPDWRUH� VFLHQWLILFR� GHO� IDUPDFR� GDO�
������ HҒ � VFULWWRUH� H� DXWRUH� SHU� SDVVLRQH��
*LDQOXFD� HҒ � DOOD� VXD� TXLQWD� SXEEOLFD]LRQH��
HG� DOOD� VHFRQGD� HVSHULHQ]D� FRQ� /D�
&DUDYHOOD� (GLWULFH� GRSR�� &XED� LVWUX]LRQL�
SHU�O¶XVR��
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